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CHAPTER

’ Equations and Inequalities

Lesson 8.1 Solving Algebraic Equations

Evaluate each expression for the given value of the variable.

1. x+ 4whenx=3 2. y—6wheny=10
3. 3x+4whenx=5 4. S5y —bwheny=4
5. %wheny=8 6. 4?k+5whenk=6

Solve each equation using the substitution method.

~—— Example

~
x+6=10
To solve the equation
2 x + 6 =10, think of
fx=2 x+6=_%2 _+6 a number that can be
added to 6 to equal 10.
fx=3, x+6= S + 6
_ 9 . o A
a 4
fx=4, x+6=_% 16
X = 4 is the solution of the equation x + 6 = 10.
N J
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7. x+8=15
If x=15, x+8=_____+8
— D
If x =6, x+8=___ +8
= D15
fx=__ , x+8=____ +8
= D15
X = is the solution of the equation x + 8 = 15.
8 m—-7=12
fm=17, m-—7= -7
=_ -7 D’IZ
If m=18, m—-7=____ -7
=_ -7 D12
fm=__  m-7=__ -7
_ 7 Du
m=_____ s the solution of the equation m — 7 = 12.
9. a+3="1 10. g—4=5
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M. b+7=12

13. k=9=7

12. h+10=18

4. p—15=3

Solve each equation using the substitution method.

~—— Example

~
4p =16 To solve the equation
4p = 16, think of a
3 number that can be
E fp=2 4p=4-: multiplied by 4 to
£ equal 16.
5 =_ & 1'!'% \\Q\
Z fp=3, 4p=4
2 fp=4, 4p=4
g
)
p= 4 is the solution of the equation 4p = 16.
N J
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15. 6p =30
Ifp=3,
If p =4,
Ifp=
p=

16. —w=3
If w=10,
fw=1,
Ifw=
w =

bp=56
= D3O

bp==6
= D?:O

, 6bp=26

is the solution of the equation 6p = 30.

W=
1 1
Iv=_.
4 4
o=
’ T4

. . . 1
is the solution of the equation W= 3
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3g =21

18. 8z =56

1
20. Ek =10

Solve each equation using the concept of balancing.

~——— Example

~
x+12=28
Subtract 12 from both
x+ 12 = 28 sides of the equation
and the two sides will
remain equal.
x + 12 @ _ 12 =23 @ _12 \
16
x=__10 __isthe solution of the equation x + 12 = 28.
N J
21. a+9=24
a+9=24
a+9—__ =24-
a =
a=___ isthe solution of the equation a + 9 = 24.
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22. c+ 14 =31

c+ 14 = 31
c+14Q_=31 Q_
c=
c=___ isthe solution of the equation ¢ + 14 = 31.
23. w+ 15 =32 24. g+ 16 =37
25. 75=p+ 29 26. 83 =s+ 46

Solve each equation using the concept of balancing.

—— Example
w—9=17

Add 9 to both sides of
w—9=17 the equation and the
two sides will remain

equal.
S @-n Q- FLL

26

-
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27. w—8=25
w—8=25
w—8+__ =25+
w=
w = is the solution of the equation w — 8 = 25
28. k—13=38
k—13=38
k—13© =s©
k=
k=____  isthe solution of the equation k — 13 = 8.
29. b—-13=21 30. 37=d-18
31. m—-15=9 32. M=y-29
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Solve each equation using the concept of balancing.

—— Example

3x=18
Divide both sides of
3x=18 the equation by 3
and the two sides will

3x @ 3 _ 18 @ 3 remain equal.

= 6

X = 6 is the solution of the equation 3x = 18.
-
33. 7x=42

7x =42
Ix+~__ =42 +
X =

x=____isthe solution of the equation 7x = 42.

34. 5p =30
5p =30
o O—=O
p =
p=___isthe solution of the equation 5p = 30.
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35. 7Tm =149 36. 9w =108
37. 6n=48 38. 1le=77
Solve each equation using the concept of balancing.
~—— Example
X
Z =1
8 Multiply both sides
of the equation by 8
X=21 and the two sides will
8 remain equal.

32

is the solution of the equation % =4.

Reteach Course 1B




Name: Date:

39. 0=6
%=6
w=
w=___  isthe solution of the equation g = 6.
40. =9
=9

=
®

y =
y=___ isthe solution of the equation % =9
m h
41.;—3 42.7—10
b s
43. 5= 3 44, 7 = )
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Solve each equation using the concept of balancing. Write your answer
in simplest form.

—— Example
xtL=2
6 6
1 5 Subtract 1 from both sides
X+ —=— .
6 6 of the equation and the two
1 1 sides will remain equal. Then
= = implify.
- l B G _ 5 G simplify.
6 6 \
4
X = 6
2
= 3
2
X = 3 is the solution of the equation x + % = %
_
3 _ 7
45. X+ g— g
3 _ 7
x*t*g=%
3 7
x+tg~ =38~
X =
. . . 7
x=___  isthe solution of the equation x + %= rx
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2 7
46. e+ﬁ—ﬁ
2 7
e+ﬁ—ﬁ
2
e =
e =
= is the solution of th tion e + == -~
e=__ IS e solution O € equation e 10_ 10°
4 7 11 2
47. k+?—7 48. E_p.|.H

Solve each equation using the concept of balancing. Write your answer
in simplest form.

~— Example
_2_1
X 9 = 3
2 1
XT9%9 2
Add = to both sides of the
2 2 9 .
2 - 1 5 equation and the two sides
x—ct+ 9 =—+ ill remai |
9 9 will remain equal. Then
3 simplify.
X = 9 \
1
= 3
1
3. . . 2 _ 1
x=__9  isthe solution of the equation x — 9 5
_
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1 1
9. 9-5=%
_A_1
976" %
1 1
g—?'l' —Z'l‘
g=
. . . 1 1
g=___ isthe solution of the equation g — =7
7 2
50. d“ﬁ‘ﬁ
7 2
d-7=15
7 2
d=
. . . 7 2
d=____ isthe solution of the equation d — T
1 5 7 1
51. W—?—? 52. ﬁ—n—w
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Solve each equation using the concept of balancing. Write your answer
in simplest form.

—— Example
5x = g
5
5x = 3
5
5 Divide both sides of the
1 equation by 5 and the two
— sides will remain equal. Then
2
x==. 5 simplify.
5
i \
= 25
2
x=__25__ isthe solution of the equation 5x = %
-
4
53. 7x= -
Ix = ;
Ix+=_ = ; +
-4,
X=7
x=____ isthe solution of the equation 7x = 4

7
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54. 9m=—

()=t )——

m=____  isthe solution of the equation 9m = %
2 8
55. 3b—7 56. 45—3
3 4
57 T = 9_y 58 ? = bx
g _ 6 10 _
E 59. 8v= 7 60. W 5w
©
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Answers

Lesson 8.1
1. 7 2. 4

3. 19 4. 14
5. 10 6. 13
7. fx=5x+8=5+8

fx=6x+8=6+18

fm=18 m—-7=18-7

fm=19,m-7=19 -7

m = 19 is the solution of the equation m — 7 = 12.
9. a= 10. g=9
1. b=5 12. h=38
13. k=16 14. p=18
15. fp=3,6p=6-3
- 18( # Ja0
fp=46p=6-4
-a(Da
lfp=56p=6-5

p=>5is the solution of the equation 6p = 30.

16. Ifw =10, w_Z 10
i

o
o
=
N
N|—
°
(o8]

1
fw= 11,ZW

|4>|j “l‘ |4>|

17.
19.
21.

22.

23.
25.
27.

28.

29.
31.
33.

34.

35.
37.

39.

40.

41.

w = 12 is the solution of the equation —w = 3
g=7 18. z=7
b =18 20. k=30
a+9=24
a+9-9=24-9
a=15
a = 15 is the solution of the equation a + 9 = 24.
c+ 14 =31
c+14(014=310 14
c=17
c = 17 is the solution of the equation ¢ + 14 = 31.
w=17 24. g=21
p =46 26. s=37
w—8=25
~8+48=25+8
w=33
w = 33 is the solution of the equation w — 8 = 25.
k—13=28
k-13D13=8D13
k=21
k = 21 is the solution of the equation k — 13 = 8.
b=234 30. d=55
m = 24 32, y =40
7x = 42
Ix+7=42+17
x=6
x = 6 is the solution of the equation 7x = 42.
5p =30
5p(D5=30)5
p=6
p = 6 is the solution of the equation 5p = 30.
m=7 36. w=12
n=38 38. e=7
w
=6
"3".2=6.2
w= 54
w = 54 is the solution of the equation %v = 6.
=9
204=904
y=36
y = 36 is the solution of the equation % =9.
m = 27 42. h=70
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43. b =40 44. s =63 54, om < 5
3 7 6
45, X + E = § 5
+3_£_1_§ 9m®2=g®2
R ETEE o}
4 M=%\
X= — —~
8 - 2
=1 S5
2 < s
X = %is the solution of the equation x + % — % m=c7 is the solution of the equation 9m = z
T 2 _ 7 _ 2 _2
46. e+ﬁ—10 55.b—§ 56.5—3
e+ 2D2=L1D2 1 2
10 1_0_10 10 57. y=E 58. X=E
5
e= — =3 -2
1 59.y—28 60. w=—
1
T2 Lesson 8.2
e = 1 is the solution of the equation e + 2 l 1. 6+u 2. 9-w
2 10 10 z
1_ 3 3. 3 4. 10s
47. k=3 48. p=7 5.2 x-10
49. g-+=1 b) y=x-10
6 6 c) Independent: x
g_%_,_l:%_,_% Dependent: y
- L, 6. a) g+6
g= z b) h= g+b6
1_ c) Independent: g
=3 Dependent: h
1 T 11 7. a) (t+ 35) dollars
= —j i f th tiong — — = —
g i|s the solution of the equa 9= =% b) u=t+ 35
50. _1_2 c) Independent: t
1515 Dependent: u
7 7 2 7
- L L3 L 8. -
d 15 15 15 15 a g-8
9 b) v=g-38
d= 15 c) Independent: g
3 Dependent: v
= 5 9.a) 4-d=4d
d= 3 is the solution of the equation d — . i b) g=4d
S 15 15 c) Independent: d
51. w= % 52. 5= % Dependent:mg
— — 10. a) m+ 10 = 0
4
53. 7x = 7 b) w= m
] 4 c) Independent: m
Ix+1= 7 7 Dependent: w
_ 41 11. a) 3nyears
X=—.—
7 7 b) s=3n
= f—q c) Independent: n
—_— Dependent: s
X = % is the solution of the equation 7x = ; 12. a) b+5= b dollars
b
b) k= T
c) Independent: b
Dependent: k

212 Answers

© Marshall Cavendish International (Singapore) Private Limited.



